
SQL> exec dbms_stats.gather_table_stats(ownname=>null, tabname=>'RADIOHEAD', 
estimate_percent=>null, cascade=>true, method_opt=>'FOR COLUMNS (id, code) SIZE 1'); 
 
PL/SQL procedure successfully completed. 
 
SQL> select * from radiohead r, ok_computer o where r.id = 5 and r.code = 'EEE'; 
 
 
100000 rows selected. 
 
 
Execution Plan 
---------------------------------------------------------- 
Plan hash value: 3583729066 
 
------------------------------------------------------------------------------------ 
| Id  | Operation            | Name        | Rows  | Bytes | Cost (%CPU)| Time     | 
------------------------------------------------------------------------------------ 
|   0 | SELECT STATEMENT     |             |   100K|  4101K|   989   (2)| 00:00:12 | 
|   1 |  MERGE JOIN CARTESIAN|             |   100K|  4101K|   989   (2)| 00:00:12 | 
|   2 |   TABLE ACCESS FULL  | OK_COMPUTER |    10 |   210 |     2   (0)| 00:00:01 | 
|   3 |   BUFFER SORT        |             | 10000 |   205K|   987   (2)| 00:00:12 | 
|*  4 |    TABLE ACCESS FULL | RADIOHEAD   | 10000 |   205K|    99   (2)| 00:00:02 | 
------------------------------------------------------------------------------------ 
 
 
Predicate Information (identified by operation id): 
--------------------------------------------------- 
 
   4 - filter("R"."ID"=5 AND "R"."CODE"='EEE') 
 
 
Statistics 
---------------------------------------------------------- 
          8  recursive calls 
          0  db block gets 
        378  consistent gets 
          0  physical reads 
          0  redo size 
    1203277  bytes sent via SQL*Net to client 
        605  bytes received via SQL*Net from client 
         21  SQL*Net roundtrips to/from client 
          1  sorts (memory) 
          0  sorts (disk) 
     100000  rows processed 


